
PORTAMATRICULAS ADAPTABLE A  KAWASAKI ZX6R 07’-08’ 

LICENSE SUPPORT ADAPTABLE TO KAWASAKI ZX6R 07’-08’ 

 

REF:4456N 

 

 

INSTRUCCIONES DE MONTAJE   

1- Desmontar el colín y el soporte de matrícula original.  

Dismount the back cowl and the original license support. 

2- Montar al piloto suministrado(6) fijandolo en los agujeros (D). Montar los silenblocs suministrados (3) en los agujeros (A) 

del soporte portamatriculas (7) Fijar el soporte en la motocicleta con los tornillos M6X20 (1) y las arandela M6 (2). Pasar 

los cables eléctricos por la funda de temperatura suministrada (4). Fijar la funda con la brida suministrada (5) en las ranuras 
(B) y guiarla a través del agujero (C) hasta el interior del colin.  

Mount the supplied stop light(6) and tight it on the holes (D). Place the wellnuts (3)  supplied  in the holes (A) of the license 

support (7). Tight it on the motorcycle using the M6x20 fasteners (1) and M6 washers (2). Place the electrical cables inside 

the temperature sheath (4) supplied. Tight the sheath with the supplied briddle (5) on the slots (B) and guide it through 

hole (C) until the cowl interior. 

      3-    Conexión eléctrica. El piloto suministrado incorpora la luz de matricula, por lo cual el conector de la luz de matricula 

original  no debe usarse. Conectar el piloto con los tres cables que alimentaban el piloto original. Verificar que frenando 
aumenta la intesidad del piloto. Electric connection. The stop light supplied incorporates license light; therefore, the 

original license light connector does not have to be used. Connect the light supplied with the three cables that feed  energy 

to the original stop light. Verify that the light increases intensity while braking. 

 

 

       INSTRUCTIONS TO ASSEMBLE 

Material sumistrado para el montaje en la motocicleta:    

Material supplied to assemble the license support: 

POSICIÓN DENOMINACIÓN CANTIDAD 

1 Tornillo M6X20 DIN1001 c/blanco White M6x20 DIN1001 fastener 4 

2 Arandela M6  (Ø18 xØ6 x 1,5) c/blanco White  M6 washer (Ø18 xØ6 x 1,5) 4 

3 Conjunto silenblock silicona Wellnut silicone set 4 

4 Funda aislante de temperatura Temperature insulating sheath 40cm 

5 Brida de plástico Plastic briddle 1 

6 Piloto posterior  Stop light 1 

7 Soporte c\negro Support c\black 1 

8 Catadrioptico Reflector 1 

9 Desplazador catadrioptico Support for reflector 1 

 

 

 

 


